B 72

e

[ JJIC JIIC ) ()| ) ZN
00907 000 0000000 00 ' r——L,
R00£ 0000
| 00 A

ol

VA Temmemeee T YY1
DO R
1?0 OO OO 00?’ ]

A T AT,

000
R0 !
<><><><><><><><><><><><>0®

DO OO0
000,
QU000

JIIC
527
677

K
457 C/0

SIS

Y
00000000000 SIS
0 007

e AR Ean0:

00

© Copyright : Gatic Pty Ltd - 2015

o B
i \
Y] Reicesec e §
R A R e Yot T A VoY oRl | AOYYa | B
) o
Yl i I ) ) e
\I -I | Ij
‘_B SECTION B-B
842
NOTE:
992
8 only of M10x50 Hex head
bolts required for assembly
C/W washers and nuts.
Iﬁzm Drwag. Rev. Title Material Qty. Mass (kg)
1 2191 C 762x457 C/O Solid Top Cover Class D Ductile Iron 500 - 7 1 68.0 kg
2 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
3 4001 C 457mm LH Side Bar Class D Ductile Iron 500 - 7 1 7.7 kg
~ \ ’ \ ’ |78 4 | 4002 C | 457mm RH Side Bar Class D Ductile Iron 500 - 7 1 7.7 kg
Lo} ‘_1 : A |
Vi 5 4012 B 762mm Under Cut Bar Class D Ductile Iron 500 - 7 1 11.2 kg
762 C/O 6 4008 B 762mm Draw Cut Bar Class D Ductile Iron 500 - 7 1 13.5 kg
SECTION A-A 7 2856 A M10 Washer Nylon, general purpose 2 0.0 kg
8 2857 A M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
9 2855 A M10 Washer Stainless Steel, 304 2 0.0 kg
10 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
- UNLESS OTHERWISE STATED | 1NEAR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening ] BY DATE CO&;301574D TTTTT * 762x457 C/O SOLID TOP COVER & FRAME
Q AL MEASURES IN MILIMETEF,{S' é:x igifg rmnrmn FINISH: ALL CAST SURFACES TO BE PAINTED AS SPECIFIED. @E e — :N.T.S. CLASSD - AooRBLY
kﬁ GENERAL CAST TOLERANCES: _ * FABRICATED COMPONENTS TO BE HOT DIP — oramt: | FM. | 06-02-15 =" A3 - [ 14+ 108.2 kg
g 09-02-15 | Initial Release F.M. | S.S. | CASTING RADII: 3 mm Q!\‘GULA:S).I\Q?CHINING TOLERANCE: E&LX'?’\;E;DOLOG/;'SF‘I‘SBSOE.ALING GREASE TO BE S./?;{RgdZTJRI;ZE PO Box 312, Reservoir VIC. 3073 THIRD ANGLE | cnecree: S5 06-02:15 f—o Y pre-ter 5 078 - A
DATE DESCRIPTION BY [CKD. | DRAFT TAPERS: 2° XX  £0.1° APPLIED ON ALL MACHINED SURFACES. Ph- 03 9316 2666 Fax- 03 9315 0099 www.gatic.com.au PROJECTION | approven:| H.B. 06-02-15 " 1of1l
2 | 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16




